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14. A number is mistakenly divided by 5 instead of 14.U% & &I el ¥ 5 | 0T HA & m
being multiplied by 5. Find the percentage _fawifora #¢ faar wmar 81 g9 Tt & sRwr wRomm

change in the result due to this mistake. # ufa=ra uRad= yma o)
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Percentage

15. In a medical certificate, by mistake a candidate 15 Afyma WfEFfrdpe d ve ngdf I Tadt ¥ avh

gave his height as 25% more than normal. In
the interview panel, he clarified that his height
was 5 feet 5 inches. Find the percentage
correction made by the candidate from his
stated height to his actual height.
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Percentage

16. In an examinatmmw passed in 16 u® uflam # 80% fAandf «wifas # 70% w@a

physics, 70% in chemistry while 15% failed in
both the subjects. If 325 students passed in
both the subjects. Find the total number of
students who appeared in the examination.
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b. 400
c. 300
d. 600
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17. In a town, 45% of the population read 17. TP UABY ﬁ, 45% m uﬁm A ﬂ?’(ﬁ ?.,

magazine A, 55% read magazine B, 40% read
magazine C, 30% read magazines A and B, 15%
read magazines Band C, 25% read magazines A
and C; and 10% read all the three magazines.
What percentage do not read any magazine?

55% UfA®T B Ugd! B, 40% Uf®T C Ued! §,
30% UPA®T A 3R B Ugd! 8, 15% @1 B 3R
€ Uget 2, 25% PRI A iR ¢ Tt ; 3R 10%
3 941 uBeTe vedt 81 fFaa ufawra & 18

g3 81 ugd? A
a. 10%
b.15% O
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